103km/h

106km/h

106km/h

2-1

T T
041091 05T-0vT [ 1] m OPT-0ET
3 ] ogt-ost o 9
~Y ©®m W ~ ©
g sg " OrT-0€T 8o 1
W f| ost-ov g g8g" [ oer-oz
i
ovT-08T 0g1-021
I (N 021-011
0gT-021
0z1-0T1 _ _ _
001 g [ , 0TT-00T
= | 0TT-00T]
e HERER
00T-06 o~ 007-06 —
; 06-08
06-08 ] os-on [
I os-oL ot
[ os-0z
02-09
th N [| oz-oo
09-05 02-09 I
8 8 &8 1 8 8 » ° ? 888 KR Y ¥W-° LB 8RKRY e
1%) [%] 1)
N &
N o =
4.\. e VE “
VLB
0, H
B z / s % i “ ﬂ '
L
&
&5 CH 8 _
- -~ g
N ey & £
/ _ 3
m [N
s |
Yol .
l B A
Fis H
0 i
o o
Lo ® B
I\ E] ElE
(=2} <
~E S
a1 9
— > —
—l m '3 1
s
o ® £ B
=3
I ® ﬁ €
= <
- bl
©
| 1S
R
N 3
-




2-2
-5 Headway
Headway

Headway
-6

10km/h

y = 0.0282x - 1.1607 /97——4
R = 0.9537 /

2 ‘4£::f

1 /

Headway([sec]
N
o

05
0
80 0 100 110 120 130 140
km/h]
[-o—Headway — (Headway

y = -5.8463Ln(x) + 110.61

10 _\ RZ=0.6287
100 vi\;v

3-1

Headway(H)
Headway(TH)

Headway(H) Headway(TH)

I TH<H |

3-2

9-2



FrOMD =T

i

o
S oo
IEDSSEREN oo TESTERD @
= [r i &
[ SR V05O GUHOECSY =
[ 7507505 B

s o) g B
= ; 2 7 ks
9-3 = s o
I e R el -
ERETDEALE RN &0 o0 =0 v 5 10 15 20 %
P i o = : BrlteE
" 1000 100 1000 B ST (I = )
% “ e
= =0 I
o @ g0
= = 52
g B
I i FFEREDn]
o ] =z Bzt
o E
&
oo i
w i
721
= o8 |
L 1| 57 & o s oz

SEframl

-10 GUI

D - D D -Headuway
=

-9-1

3*TH

MOEs Measure Of EffectiveS

CcsV( )
Excel

3-4

3-3

A Verification

3 ( )

-11

GUI

1,000

Headway



600
— Simulation

500 —
5400 -
2 =12

300 — Coss

200 v Sim =1.196 —
100 Sim  =0.483 |

0

0 1 2 3 4 5 6 7 8 9 10
Headway[sec]

(\Vvalidation)
16km

-11
+ 0.5%
-1
1 1045) 972 983| 4.5%) -2.8 -1.7%) 0.5%] -0.3%) -0.2%
2 979 981 1040 -2.1% -1.9% 4.0%) -0.2%) -0.2%) 0.4
3 979 984 1037 -2.1% -1.6% 3.7%) ~0.2%) -0.2%) 0.4¢
4 982 1019 1003 -1.8%) 1.5% 0.3%) -0.2%) 0.2%) 0.0%
5 999 97 1028 -0.1% -2.7% 2.8%| 0.0%| -0.3%) 0.3
996.8) 985 10182 -0.3%) -15 1.8%) 0.0%) -0.2%) 0.2
1045) 1015} 1040 4.5 1.5% 4.0%) 0.5%) 0.2%) 0.4
979 972 983 -2.1% -2.8% -1.7% -0.2% ~0.3%) -0.24
-12 headway
1 4,000
Headway
Headway
Headway
Headway
2200
2000 o [Veh/h]
1800 |— 1 OSimulation  [Veh/h]
= 1600 [ —
o 1400 [
21200 [
1000
800
600
400
200
0
18 2 22 24
[Sec]
-12 Headway

-Headway
_2 1
2 1
(1 446 223
( 243) 161 81
(2 51 26
658 329
-3
[knv/h]
( 1) 106 197
( 2+3) 103 163
( 4) 94 114
-13 -14
-15
9000
7000 — — |
o
$ 6000 F—
5000 — ||
4000 |— |
3000 |— ||
2000 — |
1000
00 L )
Err=-3% Err=-2% Err=-1%

-13



100.0

o 0O Simulation

90.0

800 —

700 —
600 —

[km/h]

500 [—

400

300 [—
200 —

100 —
0.0 L

Err=2%

Err=2% Err=1%

-14

50

45

[ o o ulation ||

40

35

=30

20
15
10

510
540
570
600
630
660

900 I

200 1000[ [/ ]

5 40 5

500

50

1 7km

-15

L=1__7km_500m

a
O —»
2km
-15
4-1 1
-16 1
Q=200Veh/h
3000m
5
5
Q=200Veh/h 3500m Q=800Veh/h
5500m
° —_Q-200(20%) — Q-250(20%)
0 Q=300(20%) — Q=350(20%)
» —Q=400(20%) — Q=450(20%)
o —&sooi00 _Q’G"‘“Z‘;ﬁ
& == 5500m
Z 3500m O —
N Q=200 3500m
5 )

1500m
2000m
2500m
3000m

3500m

4000m
4500m
s5000m |~
5500m
6000m
6500m
7000m

[m

-16

4-2

3000m (1000x 3 1500x% 2)

x 4 2000% 2)
2)

-17

Q

Q

2000m(1000% 2)

4000m(1000
5000m(1000x 5 2500x%
1
5000m
200Veh/h 2500m
5000m
600Veh/h 5000m



1 2500m

2
3000 ,4000
25
'3'20 RA—_—O\_%
25 o— = —=o
10
5 € 2500x 2 [
-0-5000x 1
0 . .
(@) Q=200Veh/h
41
40 £
‘339
&,38
37 -\_.//0\ o —s
36 [ — —
24 —
33 -0 2500x 2 B
32 —=-5000x 1 [
31 — —
(b) Q=600Veh/h
-17 5000m
5.
Headway
Verification
Validation

20
pp.53 56 2000.
2 Matsuda, M., Matsumoto, S., Sano, K., Traffic
Detecting and Tracking for the Measurement of
Traffic Flow at Intersections:The 10TH International
CONFERENCE OF HONG KONG SOCIETY FOR
TRANSPORTATION STUDIES, 2005.
3 Rene, B., Lyudmila, M., A composition stochastic
model for real time freeway traffic simulation. :

Transportation Research Part B 40, pp.319-334, 2006.
4

AHS
4
ITS ,2005.
5
21 pp317 320
2001.



